625
L SERELLRSE -
2015 MLl 4= 2 A T 724 N 2 il B

GEEZ SR B, W LB a ARG LIS Z R — [R5 ED
FHH SR BOFE i
@GR B, tHEACE, MR SEEES, M, BE S 5
30

1. (12%) #

2sin(z — 2) + ([z] — Dz? — 2([z] + )z + 8
(z—2)° ’

f(z) =

2. (12%) trihske = 2t2, y = 3t?, z = 2t LA &, %S4 17
Tax? 4+ y? + 2% = 47585 (1, —1, /2) i Y)F.

3. (124) #

z?lnx + 1, Y > 0,
f(w) = 1, i—,[l' = O,
2(1 —xgos w)’ < 0.
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4. (12%) wINEAz? +y* +22 =1,z +y+ 2 = 0. \efhiERE %, #%
UL R i MR 2

/2ydw + 3zdy + 4xdz.
l




5. (124)) 5

+oo sin @
/ dx,
0 ery
Hry > 0.
6. (124) K
Jrzo:o n2gnt+1
n=1
BRI BR 5.

7. 1377) Wf(z,y)EXHED: a <z <b,c <y < dlFiES. idD,, :

a<u<wc<v<y K

F(x,y) = //Dmy f(u,v)dudv.
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8. (1377) &y > 0. %
ydx

0 Vaity?

MG (y) = F'(y).

9. 13%) &

G(y) = F(y) =

w2y3
Flz,y) = { zt +y*’
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iii) 1% ER B F .

oA F I Fy 2y

+ V14
[\/1+y +y1n v ,

Zi(z,y) # (0,0),

é/|(wa y) = (Oa O)'

&
\)
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10. (139) Wy = g0 @nsa = gt n = 1,2, Wik{e, i
S, IR lim .

11. (134) W f(z) = T=SMB (0, 4o0)—FELE.

12. (13%3) & f(x)fE[a, b] FiES: Hif 2
0<f@) <m+n[ fB)dt (a<z<b),
Him > 0kn > 02N EE. WiEX T8z € [a,b]H

f(x) < men®=2),

b
w
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